
KONICHEK            COORDINATE SYSTEMS AND TIME

I. THE CONSTELLATIONS

   A. Egyptians- divided the sky into rgions conatining distinct star groups.

          1. Given names and stories so they wopuld be remembered.

   B, Constellations are areas which have stars in particular arrangements.

           1, No meaning to the arrangement except through imagaination

            2. Many are associated with Greek mythology because we related to the greek culure more, other cultures had their own intepertation of the stars.

     C. 1603 John Bayer assigned greek letters to the brightest of the stars in order of magnitude

              1.alpha being the brightest, beta the second and so on

      D. Asterism - a smaller constellation which is part of  a larger one

II. TWINKLING

     A. Caused by the starlight passing though the atmosphere of the earth.

            1. refraction- the bending of light.

            2. scintillation- The change in the intensity of light from a star.

     B. Planets- don’t  twinkle they appear as more of a steady light

            1. closer to earth

            2. Appear as disk in a telescope

III. COORDINATE SYSTEMS

    A. earth coordinates

         1. Latitude- Parallel circles which run around the earth. parallel to the equator which has a latitude of 0 degrees, and the poles are ninety degrees

         2. Longitude- Lines which are  half circles perpendicular to lines of latitude

              a. called meridians.

              b. The reference point is the prime meridian- greenwich england

                    1. the base time zone

              C. 180 degrees from prime meridian is the international dateline

                      1. the piont which abritrally starts a new day

  KONICHEK             COORDINATE SYSTEMS AND TIME     

IV. TIME AND THE INTERNATIONAL DATELINE

              A. 1884 the international conference agreed on a series of longitudainal time zones

                    1. since there are 360 degrees in the globe and 24 hours of time in a day each time zone would be 15 degrees apart

                     2. each time zone is centered on a meridian which is exactly divisible by 15.

                             a. The sun will not be directly overhead at all points in the time zone, but the solar mean time will be off less than a half hour

                                     1. Solar mean time- the avarge length of a day

           B. International dateline-This is a north-south line which represents the point where the date changes

                    1. to avoid confusion the IDL passes down the pqcific ocean, and zig-zags to avoid nations.

             C. East of the IDL is today, west of the IDL is tomorrow.

V. CALENDERS

        A. year- the time necessary for one complete revolution about the sun 365.25 mean solar days.

         B.Types of years

               1. sidereal year- The time necessary for the sun to return to the same position with repect to the stars.

               2. solar year( tropical) is the intreval between the passage of the sun through the vernal equinox

                       a. This represents when the ecliptic crosses the celestial equator.

                            a. tropical years are growing shorter by about half a second per century, 1900 is the stanard tropical year.

             C. Roman Calenders at one time had different dates, but the dates went out of synch with the seasons.

                  1. Julian calender- devised a 365.25 day calender to keep the seasons in synch, and had a leap year every forth year. Soon easter was out of phase, so the pope decreed a Bull to drop 10 days off 1582.

                   2. the gregorian calender was adopted- 365.35 days

.VI. THE AVIATORS COORDINATE SYSTEMS

       A. azimuth and altitiude

           A. azimuth- This goes around the horizon using the north point as the reference point.

                  1. North is 0 degrees, east is 90, south is 180 degrees, west is 270 degrees, and back to north.

            B. altitude- this is measured from the observers horizon which represents zero degrees to the observers zenith which is 90 degrees.

VII. ASTRONOMICAL COORDINATE SYSTEMS
            A. Celestial sphere- An imaginary sphere which places all celestial objects the same distance.

             B. Celestial equator- an extension of the earth’s equator onto the celestial sphere.

             C. celestial pole- An extension of the earth’s axis  onto the celestial sphere

              D. The stars appear to rotate once every 23h56m- sidereal day

                     1. The time necesary for the vernal equinox to return back across the the celestial  meridian.

               E. Right ascension- This is like longitude on the earth’s coordinate system.

                      1. measured in hour angles

                      2, reference point is the vernal equinox

                      3. 24 hours of right ascension in one sidereal year

                              a. Vernal equinox= 0h
                              b. Summer solstice= 6h
                              c. Autumnal eqauinox=12h
                              d. winter solstice= 18h
                F. Declination- Much like latitude

                   1.measured from the celestial equator

                   2. mesured from 0-90 degrees

                   3. positive values above Cel equator, negative values below cel equ


